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mm? €14 W} Cu oil WAAHSAL 1.7 % 108 @m €1 dl diRHI Ald 52l SA5le

Question: ; 534
Gl H4¥dqld «9 < 10723 N Y2l
(charge on electorn = 1.6 = 1071° C)

Topic: Physics-Section B

Item No: 56

Question ID: 11694056

Question Type:

Numeric Answer

W5 died] ANISIRHL p Cm> dotell HR1dd] (AR [ Hd ld asudl 8,
_2%0
AnisiRefl 2062 Aol watefl * T 0 m 20dd QYA 218l [CUdAA] ue
Vm! &2l

Question:
|
L L=,
|
|
|
Topic: Physics-Section B
Item No: 57
Question ID: 11694057
Question Type: | Numeric Answer
0.9 kg £01 MU (& [dow (Bidol 18 21Scl d A, SUldRcliz A8 1121 52 D,
913 11 £01 detl HeaHlel (U121 @led W] UUIR 2Ll © IR oflog ollef
Question: 124 g o £91 dell GUR YsAIHi w19 B W it €9 A, B26l 5uldrdiz =g 2Ald
A o
538 1R 2 W e-1 &l dl a4 92l
Topic: Physics-Section B
Iltem No: 58
Question ID: 11694058

Question Type:

Numeric Answer




60 cm =il ¢11% el 15 em =il SIS Bl 215 AR A& ([ sy
u15 U212l wisR ReUfdeusdl vi5 25 « 10% Nm2)al (dedl uiseil 1qulel

Question: : ;
041% U) 18.0 x 10* N %2q we(ld wo gai1saimi 211349 8. «ilsfl il ol
18 2lA2el sl w194 8. GUrsil wiloge] 2@Lletid? um Hi 2,
Topic: Physics-Section B
Iltem No: 59
Question ID: | 11694059

Question Type:

Numeric Answer

1.5 m (A2l "r1dd] 215 yela arRatslyal F=(12t - 3t2) v Bedl Wiy 1o
(Ul t 3] AsesH HURL 8) 93 defl 21819 520 (MR 5A9dHi w19 B, %]
yefla defl @uel wetal wefaeils asScdell AsHIAL 4.5 kg m? B.dl dsil

Question:
&HRlefl (e21l Gazld A udai ydl gl ddl ¢HRNeA] vl % 8. KoYyl
&2l.
Topic: Physics-Section B
Iltem No: 60
Question ID: 11694060

Question Type:

Numeric Answer

m 60 221l ollga GU2 d2s EsAIHl 11D 8. 6ilow 2 m 691 H1ddl eflga
(2170 ed 2119) 6 S13L BsAIH] 218 . 6ie] SdIH] UL UHU % HI2 28 B, i

Question: : :
Heston ofld gl21 Ui el 250 QRSB AR L 1A B, 1 o 4
x
&2,
Topic: Chemistry-Section A
Iltem No: 61
Question ID: 11694061
Question Type: | MCQ
250 g D-2¢ 517l el ¢laRIMi 10.8% qostel] s1olet 8. dl ¢lawlsil
Question: Hladlel 8. (125 & Q)
(WU B: YUY €915 H.1:C.12:0.16)
A: 1.03
B: 2.06
C: 3.09
D: 5.40
Topic: Chemistry-Section A

Iltem No:

62




Question ID: 11694062
Question Type: | MCQ
o2 & [ay|-] 21109 8.

[Adlet T: 0, Cu?™, F¥™ [olond el Jedsly 8o 5 w1sM[d 8 e ois|a 84
A1yl (e2tiMi o dod(sd &l 8.

Question: [adiet 11 : NaCl. H,0 W [Aofadie] yoislu @atsil (e2ueil (o (earimi
Yoy (5d (magnetized) Y14 6.
GUR s [Qulellstl 2466l 211041 [asedluiedl 019 Griz urie 530,

A: ool [qelet T 2o (delet T 21Ul D,

B: ARRCCIES e ENCEIEE e IR

C: (Qeilet 1 21, Yid [t e 8.

D: [aslet 1 vl 9, uid (ulet 1 4R 9.

Topic: Chemistry-Section A

Iltem No: 63

Question ID: | 11694063

Question Type: | MCQ

{12 & ([Qylefl 41061 B, Vs 52U A d3 wa oflona 51201 R 1% duig
539 8.
5ol A SlES1oel URHIRLA] 25 581591l Gloo [a(eiumefl 25 581540l Qoo 52l

Question: ay 8.
SIRBLR : W15 % Uelsl2ui #4124 seislell Glostudl MRl sUis addlsil 119
te 9,
GURsd [Guitelletl 2466 {121 [Asallniel A1o% Grr wrie 530
A: ool A 2ol R HIUL D el R W Aol Y12 dHydl B,
B: ool A 24l R HIUL D 34el R W Al U] uuoyl «teil.
C: AU B WRRUIE B,
D: AW B URdR AR D,
Topic: Chemistry-Section A
Iltem No: 64
Question ID: 11694064
Question Type: | MCQ




{12 & [Aylefl 241041 B, W sel 52U A d3 wia oflonal 51201 R 3 quig
539 8,
59t A : U[5USd RS SO, of »1[d20NQl CH, 52l a4y silaHdiel 53 9.

Question: 5 :
SIRELR : oilul 5ilds dluHlet (Critical Temperature) B0l A2l q[5U5d
AR5l 95 H&alse] w(denyel gt 8.
GUsd [Agletlell 20ed o{lAst1 [dseniel AU Gz it 52

A: oisl A 24l R HIUL D 24l R 2 Al Y12 Myl B.

B: o] A 2ol R HIUL D 34l R W Aol A1 duogl =teil.

C: AR D, UG R AU -2l

D: AR Al Ui R AR B.

Topic: Chemistry-Section A

Item No: 65

Question ID: 11694065

Question Type: | MCQ

w04 [wu9fle ¢lead Avl 2% Y ¢lale Gesast [olg oilam s 2104 v49ile

Question: | |t el 5% 6 Il 324 B, dll A A B o1l BUQEIR G2ledl el 20l B 2
A: M, =4Mp

B: Mg = 4My

C: M, =8Mp

D: Mg = 8M

Topic: Chemistry-Section A

Item No: 66

Question ID: 11694066

Question Type: | MCQ

Question: A CUTEENE

A: K oil uetH 2 1e{l5201 2121 @] Na 4l Li 52l 2169 8.

B: detl AHeHI Xe dedl Alell 201691 vy w1501 Weeyiad] g219d) -9l

c. 37 URHIGL 5HI5 g1l dedefl ueH ieflsel Xea@d] 38 uH1g sHis

214l ded 5l 21691 D.

5. Ga oil UL 2 [Rs{]5201 Vo1l d-(de{1o1stl UM IR 515 30 HR1ddL ded
' 52dldy 8.

Topic: Chemistry-Section A

Iltem No:

67




Question ID: 11694067

Question Type: | MCQ

of |10 w10 Ueg[dalHisll 56 didell 2legs2@4i GuAI( «12dl 2
A. ¢lgdlds

B. [s¥cdluet

Question: . [agd [deilo-t

D. [staiast

E [dAxied

o120 wUe| [gsedluiall 1oy Grlredl ureall 520,

$5dB.D

551A B.D.E

5B, D.E

SRR e

$51A.C.E

Topic: Chemistry-Section A

Iltem No: 68

Question ID: 11694068

Question Type: | MCQ

o120 A [aeled M4l B,

[Atlel 1 : 16951l UASULSS W[RU[SS ol A5 ol HiRHY]
Question: sl [sud2eA5d] dils ad 8.

[Agtlel 11 : 298 K 2 &16551%e1 URA5UI65¢] Heldl D,0 5l 21691 .

GuUsd [Aulellel Aed. 21041 [asaldie] 410y Gdz s 51l

A: oiel (e let T 2o (delet T AL D,

B: oial [qele1 T 2o (delet 1T U1l B,

C: (cetet T 41y, Ud [aulet T ule B,
D: [Aei=t Tullg B, uig (Aeled 1T AR 8.
Topic: Chemistry-Section A

Iltem No: 69

Question ID: 11694069

Question Type: | MCQ

o3 & [aylst w1041 B,

[Atilel I : Be 2ol AL ol $E0R1ES, 56171 AdHU ¢l REL HUD B va uia)
stellets ¢lasui 21219 B wel g8 Apss dld ad 9.

[Aelel IT: Be el Al il SISSISULSS dy wiese|H] 2100 B va) GRASH2 2o
Al wRl MY 8.

GURsct [Qulelletl 246, A1 [Asey urie 530,

Question:




A: oia) (Y let 1 214 (Gl 1T HIUL B,

B: oisl [qelet 1 2o (AYlet T uil2L B,

C: (aetet 1 AR URg (qaled T uile 8.
D: (Agiet 1vIlg D, Ui (Aelel 11 UR] 8.
Topic: Chemistry-Section A

Iltem No: 70

Question ID: 11694070

Question Type: | MCQ

slas0ll sl 25 RLSAL AMRLRLS YA ALl qd? vl w153t

Question: URHIRL 2841 8 2
A: yuFLslasly s
B: SISULSIs1Y WS
C: slslle1s 1S

D: Ylssls 1S
Topic: Chemistry-Section A
Item No: 71

Question ID: 11694071

Question Type: | MCQ

oAl & [quled 206l B,
[aediet 1 - w1t (1) Gelus, W55 K,Cry05 M der®l KMnO,j ¢ldRL T <

I, Hi syl 21 [5u321e 5291eil gdl 91d 8.

Question: j . . ] ) )
(Adlet 11 ; A2 WA US[AHT Mefed (58 B el AU pr — pr CiHel 501104
23
GURsd [qulsfl el «{12 w1041 [asaqluiel] 1194 G2 urle 52,

A: ool [cey ot T 4o [Aellef 11 MIUL D,

B: ARRCCIES N CEIEaTEIR ]

C: (Aelet 1 1R, Uid [Adlet mule 8.

D: (Aelst Tullg B, Uid (Qulst 11 AR B.

Topic: Chemistry-Section A

Item No: 72

Question ID: 11694072

Question Type: | MCQ




Question: Mn,0, Hl Mn=0 oigs{] S Hual 8.

A: 4

B 5

C: i)

D 3

Topic: Chemistry-Section A
Item No: 73

Question ID: 11694073

Question Type: | MCQ

JRITA YR 1A s,
Al A 1
(UM S) @lorieal
A UEE2 (=500 ppm) W CICERE BT
Question: B. #ll&922 (=50 ppm) 11 &1d U2 5281165 29leil Sl
C. 85 (=350 ppb) 1L [a3us ¥AR
D. §412185 (= 2ppm) 1V, [55silel o s2lol

w10¢ (qseqnie] Aoy Grizedl uxieall 3.

A: ATV, B-I. C-II. D-IIT
B: A-IIL B-1. C-IV. D-II
C: A-ILL B-IV, C-I, D-ITT
D: A-IL B-IV, C-I11. D-I
Topic: Chemistry-Section A
Item No: 74

Question ID: 11694074

Question Type: | MCQ




o120 & [ayleil 206l B, W 5o 5%Uet A el oilomel S12Q R 95 Auid 539 B,
591 A ; [6] Wedlet, [8] Weelot, [(Mu-[10] Weelet el 21 -[10] Aeyclt
sH2L: A [2S, «llet-. WA [2s. WA (25 i -ll-212A2s B

Q3 O G

Question:
6] A | :
[ ] mrneng 18] Huanere cis - [10] Annulene
5120 R : WA [25 e Wez| WA (25 vl Y2 Hudladl 2 s
gx[RYUld B,
GURsd [aul=llell Hed 21104 [dsailuid] dlou Gdz us 53l
A: ool A 2ol R HIUL D 24l R W Aol Y12 duydl B,
B: ool A 3 R AU D A R ¥ Asfl A1 Angcdl el
C: AR B, U R U <l
D: AR Al UId R AR B.
Topic: Chemistry-Section A
Item No: 75
Question ID: 11694075
Question Type: | MCQ
CH,OH
A Mal
Question: +HCl——> A > B
OH |
Guzetl Ulsaului «{lues B 2014l
CH,I
A:
OH
CH,I
B:
l




CH,CI

C:
OH
CH,Cl
D:
I
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 11694076
Question Type: | MCQ
HRITA YR AR sl
YR Yy
izl (LR =11l)
A [selld el sHlfesslss| 1 Daelg
et
. B.1. 3 G2lsldel we| II<ldI8s
Question: R R Y E
C.dsld  ud  \Alds| 11 6Yells
¥ [(Asefl Ul[axeer
D.odRSIH  Hd  exdlds| 1v. 55l
3 [ 5efl Ulla 2
04| [aseuniel A19Y Gz Uit 52
A: A-II, B-III, C-IV, D-I
B: A-II, B-IIL C-1, D-IV
C: A-IL, B, C-II1, D-IV
D: A-IIL B-IL. C-IV, D-I
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 11694077
Question Type: | MCQ




315 2521 3 vl [Ass uRRaldmi vied €l [erdlsal 4e srg14 210 9. 5

Question: op Rl 118 212100 Ulsul 5214, 11 HHA Ues] 291 (o 241U B, d)
ASRAX U D 2

A: w6502

B: vlesle el

C: MES CERR S

D: (521281

Topic: Chemistry-Section A

Item No: 78

Question ID: 11694078

Question Type: | MCQ

ARITA YR IR %S|,

uial 1
1. GellHadi1d]

OH IL WIS (501 A2 5dl 550
2120l qy ALeR])
B.
Question: CH4 CH;
Cl
NHNH, I Hle5 deedler
O
) V. Bal«t12(l

||
L_‘\
D.@E NH
s/
2N
o 0

of12 21104 (gsafuiefl A1oU Goetl uried] 531

A A-TV, B-IIL. C-II. D-I

B: A-IIL B-1. C-I1. D-IV




C: A-IIL B-IV. C-1. D-II
D: AL B-I. C-IV. D-IT
Topic: Chemistry-Section A
Item No: 79

Question ID: 11694079

Question Type: | MCQ

&q\ogeteotl URHIUeA HiRefl BRUM U (dHi 0.45 g 15 s10{[+15 lose1 0.36 ¢

Question: AgBr 11U B, dl AloeiHi 284l oll[Hede] 25112 WHILL 2014). (AgBr o
WBR[CLIR = 188 g mol L. Br:80)

A: 34.04%

B: 40.04%

C: 36.03%

D: 38.04%

Topic: Chemistry-Section A

Item No: 80

Question ID: 11694080

Question Type: | MCQ
JRITA YR AR 1S,

Question:

¥l

¥

A Qe Heslleg sdi1gs

L Ulel[Ms 2H1g Hizell sH12]

B Sl5HIed GlHIHLES sl

11 W[e2 BAS (Anti Saytzefd

C. slullgd 1 1ea sl

1L (e ulsys

D. €l15H1e1 4 [01[AoUIY (orientation)

TV, A1 e 2ol el dl ulsul

w04 [aseuniy] 412y Gdedl ueall 521

A-IV, B-IIL. C-II. D-I

A-IV, B-II. C-I. D-III

A-TIL B-IV., C-1, D-1I

Olow >

A-IV, B-IIL, C-1, D-II




Topic:

Chemistry-Section B

Item No:

81

Question ID:

11694081

Question Type:

Numeric Answer

10 mL of Fe2™ ¢ldRlotl 2 (4[5 Ul 4o U] 20 mL 0.02 M K,Cr,0-

Question: d i
of ¢ldBl AU B, dl Fe2™ ¢lqis{] MlalRel < 102M.
Topic: Chemistry-Section B
Item No: 82
Question ID: 11694082
Question Type: | Numeric Answer

2NO + 2H, — N, + 2H,0
GUlsd Ulsulel 21014 800°C V1 52 1M 2dlcal. A1 Hiled] 1241 51¥sHi
w 4] 8.

Run H2sl Ulile15 NOe| U385 uifets 9ol
£0418L / kPa 4181 / kPa
(—dp ] . .
Question: TR [ kPa/s)
1 65.6 40.0 0.135
2 65.6 20.1 0.033
3 38.6 65.6 0.214
4 19.2 65.6 0.106
NO <il ee] u(sUlil 54 8.
Topic: Chemistry-Section B
Item No: 83
Question ID: 11694083

Question Type:

Numeric Answer

o130 w1061 U513 Bofl us(d 2ol s1U S Adl 11 s14105(S))efl vl 24,

Question: 2
Na,0. KO,. NO,., N,0. ClO,, NO, S0,. C1,0
Topic: Chemistry-Section B
Item No: 84
Question ID: 11694084

Question Type:

Numeric Answer

Question:

YA £ 1), w16l diyetl Hldz GMLeRdL 20.785 TK ! mol™ 8. daA 300 K4l
500 K cllUH Ll 2124 52l wid [R5 GlontHi adl 32512 5000 7 9. dl 2uu1sL

o 1etl Hlded] Hual 8. (12951l Yails)

(MUY 8 : R=8.314 TK mol )




Topic:

Chemistry-Section B

Iltem No:

85

Question ID:

11694085

Question Type:

Numeric Answer

MO [Hegict UH ISl 10l [y 1ol i8] 3Lt eid $HI5 (bond order)

Question: YUt [2ed] v 2
CN-,NO™, 0,, 0,%, 0,%*

Topic: Chemistry-Section B

Item No: 86

Question ID: 11694086

Question Type:

Numeric Answer

CaF, vl 310 K 3 U184 ¢ledldl 2.34 10 g/100 mL 8. dl CaF, ¢l ¢l

Question: JRILSIR % 107 (mol/L)* 8.
(WIUE CaF, o H1ER £01 =78 g mol ™)

Topic: Chemistry-Section B

Item No: 87

Question ID: 11694087

Question Type:

Numeric Answer

Question:

CoCl3(NH;), YA H1ddl 315 (5811 ¢lauisil dlesdl 1:1 [Agyd (Aeiio

e (Yold) B. dl Aslelfl uiafis Adlowsdl 2]
Topic: Chemistry-Section B
Iltem No: 88
Question ID: 11694088

Question Type:

Numeric Answer

B [(55 HIsaHHI KMnO,, 2ol 211533 (615 2 [15e1l wejHd=HL, i [oigA

Question: I
slofetel] vi) (5520 WisH] Udl 3512 &,
Topic: Chemistry-Section B
Item No: 89
Question ID: 11694089

Question Type:

Numeric Answer




uldleior Mgl usiel (sul2iledl +12.6° 8 wa (+) yHigudls [dl21e

Question: gulel (@HBL) +30° 8. dl Ma1elel usieilx 2egdl (optical purity)
8.

Topic: Chemistry-Section B

Item No: 90

Question ID: 11694090

Question Type:

Numeric Answer

Question:

w 0] ulsauiui
so,H OH

@ Oleum @ NaOH (eXCess) @
H*
nd
T I

vy ulsyl 4ie 251alzl «fluer Guz 60% & wia oilow ulsul Hle 50% . dl
Ayel ulsulefl aux Auer % 9. (19571l YyaIs)




